
1

10

10

9

8

7

7

6

6
2

3

11

12

13

14 15

4
5

Position Description Art.nr
1 King stock
2 Brass adapter 

Impact M3 10335

3 O-ring 2,2x1 NBR 70 19761

4 Safety wing King 21052

5 Socket head cap 
screw M3x10 2527

6 Countersunk screw 
M4x12 5225

7 Countersunk screw 
M4x10 2505

8 Socket head cap 
screw M5x45 2512

9 Picatinny Fore End 
Stock 20975

10 Picatinny Tactical 
Dynamic 20998

11 Countersunk screw 
M3x6 2504

12 Safety King 21053

13 Socket head cap 
screw M4x20 5205

14 Straight Trigger 
Guard 15008

15 Screw coned 
5x14mm 5226

Model Other model names Date Revision Revision date 

FX King 2024-01-09 EN..


	King
	Drawing View8


